
CHA Industries, Inc.
1720 Wallace Ave. Unit B 
St. Charles, IL 60174 
Call: 630-443-4327 

www.proactivegears.com



Check out our growing list of 2-Cut Gears!

     They Provide:

• Strength and Durability
• Smooth and Quiet Operation
• Easier and more Consistent Set-Up

than the Standard 5-Cut Gears

There are two ways to manufacture Ring & 
Pinions. The first method, which is called “5-Cut”, 
has been used since the 1920’s. The second 
method, known as “2-Cut”, was developed in the 
late 1990’s to make gears that run smoother and 
quieter than the traditional “5-Cut” gear. 

Today, all Original Equipment Manufacturers (OEM) are using the “2-Cut” process to 
produce most of the Ring & Pinions for their vehicles. CHA Industries now offers this 
same advanced technology for the aftermarket! “2-Cut” gear set-up is consistent with 
factory specifications, leading to a decrease in installation time.

Chrysler 9.25” 2-Cut
Our “2-Cut” 3.55/3.90/4.10 gears are Dual 
Drilled to work in ALL years through 2016 
models
GM 8.5” 10 Bolt 2-Cut
Available in 3.08/3.42/3.73/4.10/4.56/4.88 Ratios

Did you know PROACTIVE GEARS also has a full line of manual transmission and transfer 
case components?  Contact your sales representative for more information.



Table of Contents

AMC 20.....................................................1    
CHRYSLER 8.25......................................1
CHRYSLER 9.25......................................1
DANA 30..................................................2
DANA 35..................................................2
DANA 44..................................................3
DANA 60..................................................4
DANA 70..................................................5
DANA 80..................................................6
FORD 8.8..................................................6
FORD 9.0..................................................7
FORD 9.75................................................7
FORD 10.25.............................................8
GM 7.5.......................................................9
GM 8.2 ......................................................9

GM 8.5/8.6 (10 Bolt) ................................... 10
GM 9.5 ............................................................. 11
GM 10.5 .......................................................... 11
GM 55 Passenger ........................................ 11
GM 55 Truck .................................................. 12
GM 11.5 .......................................................... 12
GM 12 Bolt .................................................... 12
TOYOTA 7.5 .................................................. 12
TOYOTA 8.0 .................................................. 13
TOYOTA 8.0 REVERSE ................................ 13
TOYOTA 8.2 / 8.4 ......................................... 13
TOYOTA Miscellaneous ............................ 14
Suzuki Samurai ............................................ 14
Nissan H233B ............................................... 14
Open Spider Gear Set/Miscellaneous..14

GM 8.25 IFS Reverse Rotation ...... 10 Timken Master Overhaul Kits................. 15



R
in

g
 &

 P
in

io
n

 

AMC 20
Ring Gear Diameter 8.875"
Ring Gear Bolts 8 x 7/16" 
Carrier Break 2.73 / 3.08 
Cover Bolts 12 
Pinion Splines 29 
 

Part Number OEM # Ratio

M20-411 8127072 4.11

M20-456 8124410 4.56

M20-488 4.88

Applications 

74-86 Jeep CJ 

CHRYSLER 8.25
Ring Gear Diameter 8.25"
Ring Gear Bolts 10 x 3/8" 
Carrier Break 2.45 / 2.71 
Cover Bolts 10 
Pinion Splines 27 
 

Part Number OEM # Ratio

C8.25-355 Dual 3837583 3.55 Dual Drilled

C8.25-373 Dual 3837584 3.73 Dual Drilled

C8.25-390 Dual 3.90 Dual Drilled

C8.25-411 Dual 4.11 Dual Drilled

C8.25-456 Dual 4.56 Dual Drilled

C8.25-488 Dual 4.88 Dual Drilled 

C8.25-513 Dual 5.13 Dual Drilled

C8.89-355 Fits Chrysler 8.75" (89) Case Housing, 12 Bolt, 3.55 Ratio

Applications 
70-89 Chrysler, Dodge, Plymouth full and midsized cars 87-Up Dakota V6
66-97 B-100, 150, 200, 250 Vans 01-Up Jeep Liberty KJ 

CHRYSLER 9.25
Ring Gear Diameter 9.25"
Ring Gear Bolts 12 x 7/16" 
Carrier Break None 
Cover Bolts 12 
Pinion Splines 29 
 

Part Number OEM # Ratio

C9.25-355 DCD 3837595 3.55 Dry 2 Cut , Dual Drilled  

C9.25-390 3837596 3.90

C9.25-390 DC 3837596 3.90 Dry 2 Cut 

C9.25-390 DCD 3.90 Dry 2 Cut, Dual Drilled

C9.25-392 3.92

C9.25-410 DCD 4.10 Dry 2 Cut, Dual Drilled

C9.25-456 Dual 4.56 Dual Drilled

C9.25-488 Dual 4.88 Dual Drilled

Applications 
69-Up Dodge B100, 200, 300 series vans 74-81 Plymouth Trail Duster
69-Up Dodge D and W100, 200 series trucks 98-Up Dodge Dakota, Rear, V8
74-93 Dodge Ram Charger 98-Up Dodge Durango, Rear, V8
94-10 Dodge Ram 1500 1/2 Ton 94-00 Dodge Ram 2500 3/4 Ton 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
1



R
in

g
 &

 Pin
io

n
 

DANA 30
Ring Gear Diameter 7.2" / 7.33"(JK)
Ring Gear Bolts 10 x 3/8" 
Carrier Break 3.55 / 3.73 
Cover Bolts 10 
Pinion Splines 26 
 

Part Number OEM # Ratio

D30-373 706503-3X 3.73

D30-410 706503-4X 4.10

D30-456 4.56

D30-488 4.88

D30-410R 706930-4X 4.10 Reverse

D30-456R 706930-6X 4.56 Reverse

D30-488R 4.88 Reverse

D30-513R 5.13 Reverse

D30S-373TJ 75144-5X 3.73 Front, Short Pinion 

D30S-410TJ 4.10 Front, Short Pinion

D30S-456TJ 4.56 Front, Short Pinion

D30S-488TJ 4.88 Front, Short Pinion

D30S-513TJ 5.13 Front, Short Pinion

D30JK-411 2005027-5 4.11 Reverse, Non-Rubicon Front, 7.33"

D30JK-456 4.56 Reverse, Non-Rubicon Front, 7.33"

D30JK-488 4.88 Reverse, Non-Rubicon Front, 7.33"

D30JK-513 5.13 Reverse, Non-Rubicon Front, 7.33"

Applications 
66-70 Bronco 97-Up Wrangler TJ 
86-96 Wrangler YJ 02-Up Liberty KJ 
84-01 Cherokee 07-Up JK Wrangler Non-Rubicon 
93-04 Grand Cherokee ZJ, WJ 

DANA 35
Ring Gear Diameter 7.562"
Ring Gear Bolts 8 x 7/16" 
Carrier Break 3.54 / 3.73 
Cover Bolts 10 
Pinion Splines 26 
 

Part Number OEM # Ratio

D35-308 3.08

D35-355 73386-5X 3.55

D35-373 74711-5X 3.73

D35-411 73383-5X 4.11

D35-456 73382-5X 4.56

D35-488 4.88

D35-513 5.13

Applications 
90-92 Bronco 93-Up Jeep Cherokee ZJ 
81-01 Cherokee 02-Up Liberty
91-Up Explorer 90-02 Wrangler TJ, YJ 
99-Up Grand Cherokee WJ 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
2



R
in

g
 &

 P
in

io
n

 

DANA 44
Ring Gear Diameter 8.5" 
Ring Gear Bolts 10 x 3/8", 7/16", 1/2" 
Carrier Break 3.73 / 3.92 
Cover Bolts 10 
Pinion Splines 26 
 

Part Number OEM # Ratio

D44-354 22856-5X 3.54, 3/8"

D44-373 22736-5X 3.73, 3/8"

D44-392 3.92, 3/8"

D44-409 22745-5X 4.09, 3/8"

D44-427 4.27, 3/8"

D44-455 4.55, 3/8"

D44-488 23053-5X 4.88, 3/8"

D44-513 5.13, 3/8"

D44-538 5.38, 3/8"

D44-589 5.89, 3/8"

D44-410T 4.10 Thick, 3.73 & Down Carrier

D44-455T Dual 4.55 Thick, 3.73 & Down Carrier, Dual Drilled  (3/8" & 7/16")

D44-488T Dual 4.88 Thick, 3.73 & Down Carrier, Dual Drilled  (3/8" & 7/16")

D44-513T Dual 5.13 Thick, 3.73 & Down Carrier, Dual Drilled  (3/8" & 7/16")

D44-538T Dual 5.38 Thick, 3.73 & Down Carrier, Dual Drilled  (3/8" & 7/16")

Applications 
90-92 Bronco 86-93 Jeep Cherokee XJ 
81-01 Cherokee 02-Up Liberty
91-Up Explorer 97-06 Wrangler TJ 
99-Up Grand Cherokee WJ 

Part Number OEM # Description

D44-354R 22856-5X 3.54 Reverse

D44-409R 22745-5X 4.09 Reverse

D44-456R 22105-5X 4.56 Reverse

D44-488R 23053-5X 4.88 Reverse

D44-513R 5.13 Reverse

D44-538R 5.38 Reverse

Applications 
76-96 Ford F-150 67-88 Ford 3/4 Ton 
75-90 Ford F-250 81-85 Ford 1 Ton 
78-96 Ford Bronco 69-80 GM 1/2 Ton 
67-96 Ford 1/2 Ton 68-80 GM 3/4 Ton 

Part Number OEM # Description

D44JK-411 RUB 2007772-5 4.11 Thick, 8.89", Dual Drilled ( 7/16" & 1/2")

D44JK-456 RUB 2018737 4.56 Thick, 8.89", Dual Drilled ( 7/16" & 1/2")

D44JK-488 RUB 2018747 4.88 Thick, 8.89", Dual Drilled ( 7/16" & 1/2")

D44JK-513 RUB 2018756 5.13 Thick, 8.89", Dual Drilled ( 7/16" & 1/2")

D44JK-538 RUB 5.38 Thick, 8.89", Dual Drilled ( 7/16" & 1/2")

D44RS-411 RUB 4.11 Reverse, Thick, Dual Drilled ( 7/16" & 1/2")

D44RS-456 RUB 4.56 Reverse, Thick, Dual Drilled ( 7/16" & 1/2")

D44RS-488 RUB 4.88 Reverse, Thick, Dual Drilled ( 7/16" & 1/2")

D44RS-513 RUB 5.13 Reverse, Thick, Dual Drilled ( 7/16" & 1/2")

D44RS-538 RUB 5.38 Reverse, Thick, Dual Drilled ( 7/16" & 1/2")

Applications 
07-16 Jeep Wrangler JK Non-Rubicon 
07-16 Jeep Wrangler JK Rubicon 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
3



R
in

g
 &

 Pin
io

n
 

DANA 60
Ring Gear Diameter 9.75"
Ring Gear Bolts 12 x 1/2" 
Carrier Break 4.10 / 4.56 
Cover Bolts 10 
Pinion Splines 29 
 

Part Number OEM # Description

D60-354 24813X 3.54

D60-373 76089X 3.73

D60-410 76047X 4.10

D60-456 25127-5X 4.56

D60-488 708123-4 4.88

D60-513 5.13

D60-538 5.38

D60-410R 700020-2 4.10 Reverse

D60-488R 707475-4X 4.88 Reverse

D60-538R 5.38 Reverse

D60-456RT 4.56 Reverse Thick

D60-488RT 4.88 Reverse Thick

D60-513RT 5.13 Reverse Thick

D60-538RT 5.38 Reverse Thick

Applications 
67-72 Chevrolet C10/C20 (2WD) 65-93 Dodge D250 3/4 Ton (2WD) 75-15 Ford E-350 1 Ton 
03-09 Chevrolet Express Van 2500/3500 81-93 Dodge D350 1 Ton (2WD) 00-08 Ford E-450 
79-87 Chevrolet G30 1 Ton 94-02 Dodge Ram 2500/3500 3/4 Ton 65-71 Ford F-100 1/2 Ton 
67-72 Chevrolet K10/ K1500 1/2 Ton (4WD) 04-06 Dodge Ram SRT-10 54-86 Ford F-250 3/4 Ton 
71-91 Chevrolet K30/ K3500 1 Ton (4WD) 71-03 Dodge Ram Van 2500/3500 3/4 Ton 75-78 Ford F-350 1 Ton 
02-05 Chevrolet Silverado 1500/2500 63-88 Dodge W200 3/4 Ton (4WD) 73-91 GMC G35/ G3500 1 Ton 
67-72 Chevrolet Suburban 1/2 Ton 81-93 Dodge W250/W350 3/4 Ton (4WD) 71-91 GMC K35/K3500 1 Ton (4WD) 
64-05 Chevrolet Suburban 3/4 Ton 60-80 Dodge W300 1 Ton (4WD) 03-13 GMC Savana 2500/3500 Ton (2003 - 2013) 
70-81 Dodge B100/B200/B300 Van 08-13 Ford E-150 1/2 Ton 02-05 GMC Sierra 1500/1500 HD 1/2 Ton 
81-98 Dodge B250 Van 3/4 Ton 68-74 Ford E200 3/4 Ton 02-05 GMC Sierra 2500 3/4 Ton 
81-98 Dodge B350 Van 1 Ton 80-15 Ford E-250 3/4 Ton 04 GMC Sierra Denali 
60-80 Dodge D200/D300 3/4 Ton (2WD) 68-74 Ford E-300 1 Ton 02-05 GMC Yukon XL 2500 3/4 Ton 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
4



R
in

g
 &

 P
in

io
n

 

DANA 70
Ring Gear Diameter 10.5"
Ring Gear Bolts 12 x 1/2" 
Carrier Break 4.10 / 4.56 
Cover Bolts 10 
Pinion Splines 29 
 

Part Number OEM # Description

D70-354 76568-5X 3.54 with .625 Offset

D70-373 72159-5X 3.73 with .625 Offset

D70-410 72154-5X 4.10 with .625 Offset

D70-456T 4.56 Thick with .625 Offset

Applications 
74-88 Chevrolet C30 1Ton (2WD) 81-98 Dodge B350 Dodge Van 1 Ton 75-12 Ford E-350 1 Ton 
89-98 Chevrolet C3500 65-93 Dodge D250 3/4 Ton (2WD) 00-10 Ford E-450 
96-10 Chevrolet Express Van 3500 1 Ton 60-93 Dodge D300 2wd 1 Ton 70-97 Ford F-350 1 Ton 
84-90 Chevrolet G30 1 Ton 81-93 Dodge D350 1 Ton (2WD) 99-02 Ford F-350 Super Duty 1 Ton 
70-89 Chevrolet K30/ K3500 1 Ton (4WD) 94-02 Dodge Ram 2500/3500 3/4 Ton 74-98 GMC C35/ C3500 1 Ton (2WD) 
97-01 Chevrolet P30 1 Ton Van 71-03 Dodge Ram Van 2500/3500 3/4 Ton 73-91 GMC G35/ G3500 1 Ton 
97-99 Chevrolet P3500 63-88 Dodge W200 3/4 Ton (4WD) 77-00 GMC K35/K3500 1 Ton (4WD) 
70-81 Dodge B300 Van 81-93 Dodge W250/W350 3/4 Ton (4WD) 96-10 GMC Savana 3500 1 Ton 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
5



R
in

g
 &

 Pin
io

n
 

DANA 80
Ring Gear Diameter 11.25"
Ring Gear Bolts 12 x 1/2" 
Carrier Break 3.73 / 4.10 
Cover Bolts 10 
Pinion Splines 37 
 

Part Number OEM # Description

D80-354 708120-5 3.54

D80-411 708120-6 4.11

D80-456 4.56

D80-463 707060-1X 4.63

D80-488 708120-10 4.88

D80-513 707060-13X 5.13

Applications 
92-01 Chevrolet C3500 99-03 Dodge Ram Van 2500 3/4 Ton 
03-09 Chevrolet C4500 88-10 Ford E-350 1 Ton 
96-07 Chevrolet Express Van 3500 1 Ton 00-05 Ford E-450 
92-95 Chevrolet G30 1 Ton 88-98 Ford F-350 1 Ton 
90-98 Chevrolet K30/ K3500 1 Ton (4WD) 98-15Ford F-350 Super Duty 1 Ton
97-05 Chevrolet P30 1 Ton Van 90-05 Ford F-450 Super Duty
97-99 Chevrolet P3500 92-02 GMC C35/ C3500 1 Ton (2WD)
95-98 Dodge B3500 Dodge Van 1 Ton 92-00 GMC K35/K3500 1 Ton (4WD) 
94-02 Dodge Ram 2500/3500 

FORD 8.8
Ring Gear Diameter 8.8" 
Ring Gear Bolts 10 x 7/16" 
Carrier Break None 
Cover Bolts 10 
Pinion Splines 30 
 

Part Number OEM # Description

F8.8-355 E7TZ4209J 3.55

F8.8-373 E4TZ4209A 3.73

F8.8-410 E9TZ4209B 4.10

F8.8-456 4.56

F8.8-488 4.88

F8.8-513 5.13

F8.8-456R 4.56 Reverse

F8.8-488R 4.88 Reverse

Applications 
83-96 Ford Bronco 79-14 Ford Mustang 
83-11 Ford Crown Victoria (1983 - 2011) 90-13 Ford Ranger
Ford E-100 1/2 Ton 87-97 Ford Thunderbird
83-14 Ford E-150 1/2 Ton 03-05 Lincoln Aviator 
83-98 Ford E-250 3/4 Ton 79-00 Lincoln Continental
97-14 Ford Expedition 06-08 Lincoln Mark LT 
91-14 Ford Explorer 98-05 Lincoln Navigator 
01-10 Ford Explorer Sport Trac 81-11 Lincoln Town Car
83-14 Ford F-150 1/2 Ton 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
6



R
in

g
 &

 P
in

io
n

 

FORD 9.0
Ring Gear Diameter 9"
Ring Gear Bolts 10 x 7/16" 
Carrier Break None 
Cover Bolts 10 
Pinion Splines 28 
 

Part Number OEM # Description

F9-350 3.50

F9-370 3.70

F9-410 4.10

F9-513 5.13

F9-350 RSF 3.50 REM Superfinish

F9-370 RSF 3.70 REM Superfinish

F9-410 RSF 4.10 REM Superfinish

F9-513 RSF 5.13 REM Superfinish

F9-543 RSF 5.43 REM Superfinish

F9-583 RSF 5.83 REM Superfinish

F9-600 RSF 6.00 REM Superfinish

F9-620 RSF 6.20 REM Superfinish

Applications 
66-86 Ford Bronco 60-70 Ford Falcon 
68-83 Ford E-100 1/2 Ton 70-78 Ford Maverick 
79-88 Ford E-150 1/2 Ton 65-73 Ford Mustang
68-74 Ford E200 3/4 Ton 55-79 Ford Thunderbird
75-80 Ford E-250 3/4 Ton 68-76 Ford Torino / Grand Torino 
57-83 Ford F-100 1/2 Ton 57-79 Lincoln Continental 
68-87 Ford F-150 1/2 Ton 75-80 Mercury Grand Marquis 

FORD 9.75
Ring Gear Diameter 9.75"
Ring Gear Bolts 12 x 12mm 
Carrier Break None 
Cover Bolts 12 
Pinion Splines 31 
 

Part Number OEM # Description

F9.75-373 3.73

F9.75-410 4.10

F9.75-456 4.56

F9.75-488 4.88

F9.75-373L 3.73 Fits 2011 and Up

F9.75-410L 4.10 Fits 2011 and Up

F9.75-456L 4.56 Fits 2011 and Up

F9.75-488L 4.88 Fits 2011 and Up

Applications 
97-02 Ford Expedition 10-17 Ford F-150 Raptor Edition 
97-17 Ford E150/E250/E350 15-17 Ford Transit Van 150/250/350
97-17 Ford F150 06-08 Lincoln Mark LT
97-17 Ford F-150 1/2 Ton 00-05 Lincoln Navigator 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
7



R
in

g
 &

 Pin
io

n
 

FORD 10.25
Ring Gear Diameter 10.25"
Ring Gear Bolts 12 x 1/2" 
Carrier Break None 
Cover Bolts 12 
Pinion Splines 31 
 

Part Number OEM # Description

F10.25-373L F81Z4209AA 3.73

F10.25-410L F81Z4209AB 4.10

F10.25-456L 4.56

F10.25-488L 4.88

F10.25-513L 5.13

Applications 
85-98 Ford E-250 3/4 and 1 Ton 97-99 Ford F-250 Super Duty 3/4 Ton 
00-04 Ford F-150 1/2 Ton 85-97 Ford F-350 1 Ton 
85-98 Ford F-250 3/4 Ton 97-99 Ford F-350 Super Duty 1 Ton 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
8



R
in

g
 &

 P
in

io
n

 

GM 7.5
Ring Gear Diameter 7.5" / 7.625"
Ring Gear Bolts 10 x 3/8" 
Carrier Break 3.08 / 3.23 
Cover Bolts 10 
Pinion Splines 27 
 

Part Number OEM # Description

GM7.5-323 3.23

GM7.5-342 3.42

GM7.5-355 26026782 3.55

GM7.5-373 26036813 3.73

GM7.5-410 26014585 4.10

GM7.5-456 26014587 4.56

 Applications 
82-05 Chevrolet Astro 83-05 Chevrolet S10 Blazer / Pickup 90-02 Isuzu Rodeo
82-02 Chevrolet Camaro 04-12 GMC Canyon 91-04 Oldsmobile Bravada 
78-96 Chevrolet Caprice 02-05 GMC Envoy 78-88 Oldsmobile Cutlass 
04-13 Chevrolet Colorado 83-05 GMC S15 Jimmy / Pickup 77-02 Pontiac Firebird
77-87 Chevrolet El Camino 94-04 GMC Sonoma 77-87 Pontiac Grand Prix 
77-96 Chevrolet Impala 05-11 Hummer H3 77-02 Pontiac Trans Am
78-88 Chevrolet Monte Carlo 03-08 Isuzu Ascender

GM 8.2
Ring Gear Diameter 8.2"
Ring Gear Bolts 10 x 3/8" 
Carrier Break 3.08 / 3.23 
Cover Bolts 10 
Pinion Splines 25 
 

Part Number OEM # Description

GM8.2-308 3.08

GM8.2-336 3.36

GM8.2-355 3.55

Applications 
67-70 Chevrolet Camaro 64-72 Chevrolet El Camino 70-72 Chevrolet Monte Carlo 
64-72 Chevrolet Chevelle/ Malibu 64-72 Chevrolet Impala 69-72 Pontiac Trans Am

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
9



R
in

g
 &

 Pin
io

n
 

GM 8.25 IFS Reverse Rotation
Ring Gear Diameter 8.25"
Ring Gear Bolts 10 x 7/16" 
Carrier Break None 
Cover Bolts 10 
Pinion Splines 30 
 

Part Number OEM # Description

GM8.25-373R 3.73 Reverse 

GM8.25-410R 4.10 Reverse

GM8.25-456R 4.56 Reverse

GM8.25-488R 4.88 Reverse

GM8.25-513R 5.13 Reverse

Applications 
99-15 Cadillac Escalade 88-98 GMC K25/ K2500 3/4 Ton (4WD) 
02-13 Chevrolet Avalanche 1500 98-15 GMC Sierra 1500 1/2 Ton 
92-94 Chevrolet Blazer 98-15 GMC Sierra Denali
88-99 Chevrolet K10/K20/K1500/KL2500 (4WD) 88-99 GMC Suburban 1/2 Ton
99-15 Chevrolet Silverado 1500 1/2 Ton 88-99 GMC Suburban 3/4 Ton 
88-15 Chevrolet Suburban 1/2 Ton 92-15 GMC Yukon 1500 1/2 Ton 
88-98 Chevrolet Suburban 3/4 Ton 92-98 GMC Yukon 2500 3/4 Ton 
95-15 Chevrolet Tahoe 1500 1/2 Ton 00-15 GMC Yukon XL 1500 1/2 Ton 
88-99 GMC K15/ K1500 1/2 Ton (4WD) 88-98 GMC K25/ K2500 3/4 Ton (4WD) 

GM 8.5/8.6 (10 Bolt)
Ring Gear Diameter 8.5" / 8.6"
Ring Gear Bolts 10 x 7/16" 
Carrier Break 2.56 / 2.73 
Cover Bolts 10 
Pinion Splines 30 
 

Part Number OEM # Description

GM10-308 26037732 3.08

GM10-342 26037720 3.42

GM10-342DC 3.42

GM10-373 26037712 3.73

GM10-373DC 3.73, Dry 2 Cut

GM10-410 3988515 4.10

GM10-410DC 4.10, Dry 2 Cut

GM10-456 4.56

GM10-456DC 4.56, Dry 2 Cut

GM10-488 4.88

GM10-488DC 4.88, Dry 2 Cut

GM10-513 5.13

Applications 
99-13 Cadillac Escalade 02-09 GMC Envoy
02-13 Chevrolet Avalanche 1500 94-05 GMC S15 Jimmy / Pickup
88-99 Chevrolet C1500 1/2 Ton (2WD) 96-13 GMC Savana 1500 1/2 Ton 
89-00 Chevrolet C2500 3/4 Ton (2WD) 96-98 GMC Savana 2500 3/4 Ton 
70-81 Chevrolet Camaro 99-15 GMC Sierra 1500 1/2 Ton 
04-13 Chevrolet Colorado 99-13 GMC Sierra Denali
96-15 Chevrolet Express Van 1500 1/2 Ton 94-04 GMC Sonoma
94-05 Chevrolet S10 Blazer / Pickup 77-00 GMC Suburban 1/2 Ton 
99-15 Chevrolet Silverado 1500 1/2 Ton 92-13 GMC Yukon 1500 1/2 Ton 
77-13 Chevrolet Suburban 1/2 Ton 00-13 GMC Yukon XL 1500 1/2 Ton 
95-15 Chevrolet Tahoe 1500 1/2 Ton 05-11 Hummer H3
99-12 Chevrolet Trailblazer 03-08 Isuzu Ascender
04-12 GMC Canyon 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
10



R
in

g
 &

 P
in

io
n

 

GM 9.5
Ring Gear Diameter 9.5"
Ring Gear Bolts 12 x 12mm 
Carrier Break None 
Cover Bolts 14 
Pinion Splines 30 
 

Part Number OEM # Description

GM9.5-410 26015982 4.10

GM9.5-456 14034946 4.56

Applications 
02-13 Chevrolet Avalanche 1500 03-06 Chevrolet SSR 98-13 GMC Sierra Denali
02-06 Chevrolet Avalanche 2500 97-13 Chevrolet Suburban 1/2 Ton 97-00 GMC Suburban 1/2 Ton 
88-99 Chevrolet C1500 1/2 Ton (2WD) 79-13 Chevrolet  Suburban 3/4 Ton 79-00 GMC Suburban 3/4 Ton 
79-88 Chevrolet C20 3/4 Ton (2WD) 97-13 Chevrolet Tahoe 1500 1/2 Ton 92-13 GMC Yukon 1500 1/2 Ton 
88-00 Chevrolet C2500 3/4 Ton (2WD) 88-99 GMC C15/ C1500 1/2 Ton (2WD) 92-13 GMC Yukon 2500 3/4 Ton 
96-15 Chevrolet Express Van 1500 1/2 Ton 79-00 GMC C25/ C2500 3/4 Ton (2WD) 00-13 GMC Yukon XL 1500 1/2 Ton
96-13 Chevrolet Express Van 2500 3/4 Ton 96-13 GMC Savana 2500 3/4 Ton 97-13 GMC Yukon XL 2500 3/4 Ton 
99-13 Chevrolet Silverado 1500 1/2 Ton 98-13 GMC Sierra 1500 1/2 Ton 02-09 Hummer H2
99-13 Chevrolet Silverado 2500 3/4 Ton 01-07 GMC Sierra 1500 HD 1/2 Ton 
01-07 Chevrolet Silverado HD 1500 1/2 Ton 99-13 GMC Sierra 2500 3/4 Ton

GM 10.5
Ring Gear Diameter 10.5"
Ring Gear Bolts 12 x 1/2" 
Carrier Break 4.10 / 4.56 
Cover Bolts 14 
Pinion Splines 30 
 

Part Number OEM # Description

GM10.5-373 327721 3.73

GM10.5-410 26029468 4.10

GM10.5-456 26026100 4.56

GM10.5T-456T 4.56 Thick

GM10.5T-488T 4.88 Thick

GM10.5T-513T 5.13 Thick

GM10.5T-538T 5.38 Thick

Applications 
02-06 Chevrolet Avalanche 2500 97-05 Chevrolet P30 1 Ton Van 77-00 GMC K35/K3500 1 Ton (4WD) 
89-00 Chevrolet C2500 3/4 Ton (2WD) 97-99 Chevrolet P3500 96-15 GMC Savana 2500 3/4 Ton 
73-88 Chevrolet C30 1Ton (2WD) 99-15 Chevrolet Silverado 2500 3/4 Ton 96-15 GMC Savana 3500 1 Ton 
89-02 Chevrolet C3500 99-15 Chevrolet Silverado HD 2500 3/4 Ton 09-15 GMC Savanna 4500 
96-15 Chevrolet Express Van 2500 3/4 Ton 01-13 Chevrolet Silverado HD 3500 1 Ton 99-15 GMC Sierra 2500 3/4 Ton 
96-15 Chevrolet Express Van 3500 1 Ton 73-15 Chevrolet Suburban 3/4 Ton 99-15 GMC Sierra 2500 HD 3/4 Ton 
09-15 Chevrolet Express Van 4500 73-00 GMC C25/ C2500 3/4 Ton (2WD) 73-00 GMC Suburban 3/4 Ton 
75-95 Chevrolet G20 3/4 Ton 73-02 GMC C35/ C3500 1 Ton (2WD) 92-15 GMC Yukon 2500 3/4 Ton 
79-96 Chevrolet G30 1 Ton 81-87 GMC G15/ G1500 1/2 Ton 06-15 GMC Yukon XL 2500 3/4 Ton 
73-00 Chevrolet K20/K2500 3/4 Ton (4WD) 79-96 GMC G35/ G3500 1 Ton 
72-00 Chevrolet K30/ K3500 1 Ton (4WD) 66-00 GMC K25/ K2500 3/4 Ton (4WD) 

GM 55 Passenger
Ring Gear Diameter 8.4"
Ring Gear Bolts 10 x 3/8" 
Carrier Break 3.90 / 4.10 
Pinion Splines 17 
 

Part Number OEM # Description

GM55P-308 3.08

GM55P-373 3.73

Applications 
55-64 GM Passenger Car 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
11



R
in

g
 &

 Pin
io

n
 

GM 55 Truck
Ring Gear Diameter 9.375"
Ring Gear Bolts 12 x 3/8" 
Carrier Break None 
Pinion Splines 17 
 

Part Number OEM # Description

GM55T-338 3.38

Applications 
55-64 GM Truck 

GM 11.5
Ring Gear Diameter 11.5"
Ring Gear Bolts 12 x 9/16" 
Carrier Break 4.10 / 4.63 
Cover Bolts 12 
Pinion Splines 30 
 

Part Number OEM # Description

GM11.5-456 4.56

 Applications 
01-15 Chevrolet Silverado 2500 & HD/3500 & HD 03-16 Dodge Ram 3500 1 Ton 01-15 GMC Sierra 2500 & HD/3500 & HD
03-13 Dodge Ram 2500 3/4 Ton 03 Dodge Ram Van 2500 3/4 Ton 

GM 12 Bolt
Ring Gear Diameter 8.875"
Ring Gear Bolts 12 x 3/8" 
Carrier Break 4.10 / 4.63 
Cover Bolts 12 
Pinion Splines 30 
 

Part Number OEM # Description

GM12P-355 3.55

GM12P-373 3.73

GM12P-373-4 3.73 Thin R&P, Fits 4.10 & Up Case only

 Applications 
64-72 Chevrolet Bel Air 64-68 Chevrolet Chevy II 64-72 Chevrolet Nova 
64-72Chevrolet Biscayne 65-72 Chevrolet El Camino 70-72 Pontiac GTO
67-72 Chevrolet Camaro 64-72 Chevrolet Impala 69-72 Pontiac Trans Am
66-70 Chevrolet Caprice 70-72 Chevrolet Chevy Monte Carlo 
64-72 Chevrolet Chevelle/ Malibu 68-72 Chevrolet Nomad

TOYOTA 7.5
Ring Gear Diameter 7.5" 
Ring Gear Bolts 10 x 11mm" 
Carrier Break None 
Pinion Splines 23 
 

Part Number OEM # Description

T7.5-456 4.56

T7.5-488 4.88

T7.5-529 5.29

T7.5-456R 4.56R

T7.5-488R 4.88R

T7.5-529R 5.29R

 Applications 
86-95 Toyota 4Runner 95-06 Toyota Tacoma 01-07 Toyota Sequoia 
77-95 Toyota Pickup Reverse 95-04 Toyota Tacoma
96-98 Toyota T100 95-02 Toyota 4Runner 95-06 Toyota Tundra 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
12



R
in

g
 &

 P
in

io
n

 

TOYOTA 8.0
Ring Gear Diameter 8.0"
Ring Gear Bolts 10 x 11mm" 
Carrier Break None 
Pinion Splines 27 / 29 
 

Part Number OEM # Description

T8-411 4.11, 27 splines

T8-456 4.56, 27 splines

T8-488 4.88, 27 splines

T8-529 5.29, 27 splines

T8-411 V6 4.11, 27 splines, V6

T8-456 V6 4.56, 27 splines, V6

T8-456 V6-29 4.56, 29 splines, V6

T8-488 V6 4.88, 27 splines, V6

T8-488 V6-29 4.88, 29 splines, V6

T8-529 V6 5.29, 27 splines, V6

T8-529 V6-29 5.29, 29 splines, V6

 Applications 
85-09 Toyota 4Runner 95-15 Toyota Tacoma  (V6) 
79-95 Toyota Pickup 99-06 Toyota Tundra  (V6) 

07-09 Toyota FJ (V6) 03-09 Lexus GX  (V6) 

TOYOTA 8.0 REVERSE
Ring Gear Diameter 8.0"
Ring Gear Bolts 10 x 11mm" 
Carrier Break See below 
Pinion Splines 27 / 29 
 

Part Number OEM # Description

T8-488R 4.88, 27 splines, Reverse

T8-529R 5.29, 27 splines, Reverse

T8-488R-29 4.88, 29 splines, Reverse

T8-529R-29 5.29, 29 splines, Reverse

T8IFS-456 RT 4.56 IFS Reverse, Thick (Fits 3.73&Dn Case), 29 splines

T8IFS-488 RT 4.88 IFS Reverse, Thick (Fits 3.73&Dn Case), 29 splines 

 Applications 
85-95 Toyota Land Cruiser 05-16 Toyota Tacoma
IFS/Reverse/Thick 03-14 Toyota 4Runner 
07-14 Toyota FJ 

TOYOTA 8.2 / 8.4
Ring Gear Diameter 8.2" / 8.4"
Ring Gear Bolts 12 x 11mm" 
Carrier Break None 
Pinion Splines 30 
 

Part Number OEM # Description

T8.2-456 4.56

T8.2-488 4.88

T8.4-456 4.56

T8.4-488 4.88

T8.4-529 5.29

 Applications 
10-Up Lexus GX 460 
10-Up Toyota 4Runner 
10-Up Toyota FJ Cruiser 
8.4 Applications? 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
13



R
in

g
 &

 Pin
io

n
 

TOYOTA Miscellaneous
Part Number OEM # Description

T9R-488 4.88 9" IFS Reverse, 12 Bolt,  34 splines, 07-14 Tundra, 08-14 Land Cruiser

TLC-488 4.88 9.5", 12 Bolt, 27 splines, Toyota Land Cruiser

TLC-529 5.29 9.5", 12 Bolt, 27 splines, Toyota Land Cruiser

TLC100-488 4.88 9.5" 29 splines, 07-Up Tundra, 98-Up Landcruiser

T10.5-488 4.88 10.5", 12 Bolt, 34 splines, 07-15 Tundra Rear w/5.7L         

SUZUKI Samurai
Ring Gear Diameter 6.9" 
Ring Gear Bolts 10 x 10mm" 
Carrier Break None 
Pinion Splines 26 
 

Part Number OEM # Description

SUZSAM-457M 6.9", 10 Bolt, 4.57 Ratio, Suzuki Samurai Front & Rear

SUZSAM-538M 6.9", 10 Bolt, 5.38 Ratio, Suzuki Samurai Front & Rear

Applications 
86-95 Samurai

NISSAN H233B
Ring Gear Diameter 233mm
Ring Gear Bolts 9 Bolts 
Carrier Break None 
Pinion Splines 29 
 

Part Number OEM # Description

H233B-513 5.13

H233B-513R 5.13 Reverse

H233B-557 Coming Soon

H233B-557R Coming Soon

H233B-589 Coming Soon

H233B-589R Coming Soon

Applications 
87-97 Nissan Patrol and Safari GQ Y60 
98-Up Nissan Patrol GU Y61 
86-95 Nissan Pathfinder / Terrano WD21 
96-04 Nissan Pathfinder / Terrano R50 
97-04 Nissan Frontier D22 
00-04 Nissan Xterra 

Open Spider Gear Set/Miscellaneous
Part Number OEM # Description

C9.25-S-31 Spider Gear Set for Standard Open Case, 31 Spline Axle

F8.8-S-31 Spider Gear Set for Standard Open Case, 31 Spline Axle

GM8.6-S-30 Spider Gear Set for Standard Open Case, 30 Spline Axle

D44LSD Dana 44 Helical Limited Slip Differential, 3.92 Ratio-Up, 30 Spline Axle

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
14



O
ve

rh
au

l K
it

s 

Timken Master Overhaul Kits

Our Master Overhaul Kits come with new top quality Timken Bearings and National seals. ProActive kits 
also include Pinion seal, Pinion Shims, Carrier Shims, Pinion Nut, Gasket or Sealant, Preload shims or 
Crush sleeve, Ring gear bolts, Gear marking compound & Loctite for the ring gear bolts. 

Chrysler/Dodge Master  Overhaul Kits
Part Number Description

C8.25 MK Chy 8.25" Master Overhaul Kit

C9.25 MK Chy 9.25" Master Overhaul Kit

C10.5 MK Chy AAM 10.5" Rear Master Kit, '03-Up

GM11.5 MK AAM 11.5" GM & Dodge Master Overhaul Kit

Dana, Master Overhaul Kits
Part Number Description

D30 MK D30 Jeep TJ & '95-Up Grand Cherokee up to '04 Master Overhaul Kit

D30A MK D30 '72-'96 Jeep CJ, YJ & XJ Master Overhaul Kit

D44 MK D44 Master Overhaul Kit (Fits 99% of '03-Dn D44 Models)

D44RUB MK D44 Jeep Rubicon '03-'06 Front & Rear / '03-'06 TJ LJ w/ 44 Rear, Master Overhaul Kit

D50 MK D50 Front Master Overhaul Kit

D60 MK D60 Master Overhaul Kit (2 Pinion Seals)

D70 MK D70 Master Overhaul Kit

D80F MK D80 Ford '98-Up Master Overhaul Kit

D80 MK D80 Master Overhaul Kit

Ford, Master Overhaul Kits
Part Number Description

F7.5 MK Ford 7.5" Rear Master Overhaul Kit

F8.8 MK Ford 8.8" 28 & 31Spl Master Overhaul Kit

F8.8IFS MK Ford 8.8" IFS Master Overhaul Kit (Includes all 4 Small Roller Bearings)

F9.75 MK Ford 9.75" Master Overhaul Kit '97-'98 Models

F9.75A MK Ford 9.75" Master Overhaul Kit '99-'07 Models

F9.75B MK Ford 9.75" Ford Master Overhaul Kit '08-'10 Models

F9.75C MK Ford 9.75" Master Overhaul Kit '11-Up Models

F10.50 MK Ford 10.25" Master Overhaul Kit (**Use in 10.5" Housing w/Aftermarket 10.25" Gear Set)

F10.50A MK Ford 10.5" Master Overhaul Kit (F10.50 MK with 10.25" R&P)

F10.50B MK Ford 10.5" '11-Up Master Kit

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
15



O
verh

au
l K

its 

Timken Master Overhaul Kits
GM, Master Overhaul Kits
Part Number Description

GM7.5 MK GM 7.5" & 7.6" '82-'99 Master Overhaul Kit

GM7.5A MK GM 7.625" '00-Up Master Overhaul Kit

GM12T MK GM 12 Bolt Truck Master Overhaul Kit

GM12C MK GM 12 Bolt Car Master Overhaul Kit

GM8.25IFS MK GM 8.25" IFS Master Overhaul Kit

GM8.5 MK GM 8.5" 10 Bolt Rear Master Overhaul Kit

GM8.5A MK GM 8.5" 10 Bolt 77-91 Front Master Overhaul Kit

GM8.6 MK GM 8.6" GM '99-'08 Master Overhaul Kit

GM8.6A MK GM 8.6" '09-Up Master Overhaul Kit

GM9.25IFS MK GM 9.25" IFS Master Overhaul Kit

GM9.5 MK GM 9.5" 14 Bolt 79-97 Master Overhaul Kit

GM9.5A MK GM 9.5" 14 Bolt 98-13 Master Overhaul Kit

GM10.5 MK GM 10.5" 14 Bolt 72-87 Master Overhaul Kit

GM10.5A MK GM 10.5" 14 Bolt 88-97 Master Overhaul Kit

GM10.5B MK GM 10.5" 14 Bolt 98-04 Master Overhaul Kit

GM11.5 MK AAM 11.5" GM & Dodge Master Overhaul Kit '11-Dn

GM11.5A MK GM/AAM 11.5" GM & Dodge Master Overhaul Kit 11-Up

GM11.5C MK AAM 11.8 Master Overhaul Kit

Jeep, Master Kits
Part Number Description

D30 MK D30 Jeep TJ & '95-Up Grand Master Overhaul Kit

D30A MK D30 72-96 Jeep CJ, YJ & XJ Master Overhaul Kit

D30JK MK D30 REVERSE '07-Up JK, Front Master Overhaul Kit

D35 MK D35 Master Overhaul Kit

D44 MK D44 Master Overhaul Kit (Fits 99% of '03-Dn D44 Models)

D44R MK D44 Jeep '03-'06 Rubicon F&R & '03-'06 TJ & LJ w/44 Rear, Master Overhaul Kit

D44RS MK D44 REVERSE '07-Up JK, Front Master Overhaul Kit

D44JKR MK D44 '07-Up JK Rubicon Rear Master Overhaul Kit

D44JKNR MK D44 '07-Up Jeep JK  (NoN-Rubicon) Rear Overhaul Kit

Toyota, Master Kits
Part Number Description

T7.5IFS MK Toy 7.5" IFS '86-'89, 4Cyl (w/45MM Carrier Brgs) Master Overhaul Kit

T7.5IFSA MK Toy 7.5" IFS '90-Up (w/50MM Carrier Brgs) Master Overhaul Kit

T7.5 MK Toy 7.5" IFS '96-'04 Tacoma, T100, Tundra & 4Runner Master Overhaul Kit

T8IFS MK Toy 8" IFS '03-Up 4Runner, '05-Up Tacoma, '07-Up FJ, '02-'09 LC, Master Overhaul Kit

T8 MK Toy 8" 4Cyl F&R '79-'86 Master Overhaul Kit

T8A MK Toy 8" V6 & 4Cyl Turbo '85-'95 Master Overhaul Kit

T8.4 MK Toy 8.4" '96-'04 Tacoma, T100 & '99-'06 Tundra Master Overhaul Kit

T9IFS MK Toy 9" IFS '07-Up Tundra, '08-Up Landcruiser Master Overhaul Kit

T9.5 MK Toy 9.5" '98-Up TLC, '07-Up Tundra w/ 4.6-4.7L Engine WITH AFTERMARKET T9.5-488

T9.5A MK Toy 9.5" '07-Up Tundra Rear, w/ 4.6 -4.7L Engine WITH FACTORY GEAR ONLY

T9.5B MK Toy 9.5" TLC F&R 69-90 Master Overhaul Kit (Includes Ring Gear Bolts & Nuts)

T10.5 MK Toy 10.5" '07-Up Tundra Rear w/ 5.7L Engine Master Overhaul Kit

Suzuki, Samurai Master Kit
Part Number Description

SUZ MK Suzuki Samurai Front & Rear Master Overhaul kit

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com    Call: 630-443-4327  
16



Warranty Policy: 

CHA INDUSTRIES, INC DBA PROACTIVE GEARS warrants the original retail purchaser that 
all PROACTIVE GEARS products will be free from defects in materials and workmanship 
for 12 MONTHS. PROACTIVE GEARS makes no other warranty of any kind, express or 
implied. All other warranties, including but not limited to an implied warranty of 
merchantability or fitness for a particular purpose, are excluded. This warranty is offered 
provided that the PROACTIVE GEARS product has been installed and maintained 
correctly, and that it has not been subject to modification, accident, abnormal use or 
misuse.  

This warranty does not cover, and PROACTIVE GEARS shall not be liable for, incidental or 
consequential damages, including loss of time, road service charges, labor charges, 
inconvenience, loss of vehicle use, loss of revenues, or loss or damage to personal 
property (including loss or damage to vehicle parts due to the failure of the PROACTIVE 
GEARS product). In addition, this warranty does not cover, and PROACTIVE GEARS shall 
not be liable for, any undertaking, representation, or agreements made by dealers or 
other third parties selling PROACTIVE GEARS products. 

Return Policy:  

Returns are accepted up to 30 days after purchase and require a RMA (Return 
Merchandise Authorization) number. All returns must be new, unopened, uninstalled 
and unmodified. Customer is responsible for shipping charges on returns/ exchanged 
items. All returns are subject to a 15% restocking fee.  

Disclaimer: CHA INDUSTRIES, INC DBA PROACTIVE GEARS is in no way affiliated with any brand names listed or 
displayed in this catalog. References to brands, part numbers, and applications are for reference only. 
PROACTIVE GEAR Ring & Pinion products are aftermarket products and are not manufactured by the Original 
Equipment Manufacturer. Photos are for illustrative purposes only. 

Since 1984 

1720 Wallace Ave. Unit B 
St. Charles, IL 60174 

www.proactivegears.com Call: (877) 432-7738
Fax: (866) 806-7738 17



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




